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/ ‘;§.‘.‘c_omwe: {f1o geaphs Iu paris () and (o) of Flg. LL84: Ts it
b iJ }mxlblnlq,rcmovo ano yerlex from onch of thoso graphs so (ht
tdx Cl
'1'21
y };‘&5 hea &;’“Ph Wa? (The praph W, wag dofined in Exorolso 14
3 L1)

W) Forn = 3, how many dlfferent Hanillton oyales neethero

In fha gomplote graph K7
b
L .
"c) ‘Ningteon students In a nursory school play a ganio aach
_dny wgoro they fiold hands to form a clrele, For haw many
days cah they do this with no student holding hands with
tha sante playmate twico?
8, 1) For n € Z*, n > 2, show that the number of dintlrct
. . Homdlton oyoles fn the ginph X;,,, 1s (1/2)(n = DI nl
!,’) th\i' mnay differcat Hamllton pallis are there for Ky,
fsa iz 11
¥ ,,i‘?' Lot G.= (¥, £) boa loop-fres undicected graph, Provo that
I G-oontalns 1o cyclo of odd length, then G Is bipaitito,

PO U
107) Lot G = (1, ) bo a connoeted bipitlte wndirected
i maph:with Vopactitloned us V) U ¥, Provo thyt If (V] #
2+ L1Val, then @ cannot have & Hamilton oycle.,
b) Prove \hnl IF tho graph @ In part (a) has 4 Hamllton puih,

fon |5 ~ [Vl =1, .
0} Givs an oxninple of a d bipuctitc- undl
. Bph &= (V, K), whero V Is putditioncd ag % U ¥; and
] ].Vll & Vol = [, but G hns noHamlllon puth,

.l

Ny haws many different Homilton oygles re thoro In .

), Hoil many edge-disjolnl Hamllton cyolos aro thero fn

11, &) Determine all nonisomorphio loumumcnls'wllh thios
vertloes,
b) Eind all of tho nonisomarphlo tournaments wlth four
vertleos, Liat tho In dogreo und (fio out dogreo for each var-
tox, n cachi of heso lournniients,

12, Provo that for n 2 2, the hypereubio 2, has & Hamtlton

cyclo.

13, Lol T = (V, E) be n tournamont witlt p & ¥ of maximum |

aut dogeeo, Ifw & V and o 7 v, prove thateltlier (v, w) € for
thoralsa vortox y In V whero y 7 v, w, and (v, i {y w)eB.
(Such o vertox v Is onlled /g for the tourmament.) !
14, Find n countoroxnmplo to tho converse of Theorem 11.8,
15, Qlvoanoxample of aloop-fres connected undirected multi-
‘graph G.= (V, E) auch that |V] = u aud deg(¥) + dvp(y) 2
n— L forallx, y €V, but G hos na Hamliton path.

16, Pravo Corallarlos [1.4'and 11,5,

17, Glysanoxamplo toshow thattho converse of Carollary:t 1,5
need not bo tee;. *

18, Holen and Dominle Invite 10 Ronds to diunor, I thls group
of 12 pooplo overyonc knows al foust 6 otliess, Frovo (hat the
12 can b seated around  clegnlne inblo In such a way that éaoh
gerson Is acqualntcd with the gorsons sitfing on elthier sido.
19, Lot G = (V, £) bo d loop-{téo wiidirected graph Ut Is 6-
ceguini Prove thnt tf [¥] = U, then' @. conlalna'n Hamilton
oyclo,

20, Lei G = (V, B) ba n loop-freo undlrected n-regulnr graph

" with [V = 2u -+ 2. Provo that G (the complemont of @) hua o

Hamllton cyclo, .




